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Time: 10 Minutes | Paper Math 8 (T-1) |  Total Marks: 10 |
| 2nd Month, 4th Week, Ist Day | Ex 1.18 Q # (1,2,3) |
Q.1. Answer the following Questions. - ;h..«lﬁcfv.:«vf‘f" B[O

(i) 30 men repair a road in 56 days by working 6 hours daily. In how many

days 45 men will repair the same road by working 7 hours daily. A3)
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(ii) If 60 women spin 48 kg of cotton by working 8 hours daily, how much
cotton will 30 women spin working 12 hours daily? A3
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(iii) If the price of a carpet 8 metres long and 3 metres wide is Rs. 6288, what

will be the price of 12 metres long and 6 metres wide carpet? “)
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